THSEE —KR=5t EERXTFES

(B)=HM5F4818 (E)SH64£E3H31H

[MHEEiUEEE 58] B FH
BEHE TEE | BER o =
£BIA 6,900 7,010 A0|iireEas
FHSULA 4,400 4,000 400 E‘i‘iﬁ%ﬁg@fl’_ﬁgﬁw
XFhHNE - EAZHERE
BERBBHHSIA 50,224 56,330 2,804| EFESE S S
FRUVHREIEEEth
ZHLINA 169,086] 163,626 6,360| £/ - Bit1) Bit2
PECEET N 769 632 1a7| SRR S R SR
NETR 6,366 6,174 192|& E2FI AR
SIS U A 14,236 9,574 4662 \rEEIES
3| [rEsmERsA 55649 52434 3,215 EE AR IR R
& BEERIUY—ERFEERA 12,120 10,380 1,740|[8 EBiL —ER &
B [zEReELSRA 1,804 1,804 0
& ZOHDIA 2,065 1,550 515
ﬁ BEZEHIAG (1) 333519] 313514 20,005
% AEB X 251537 239,641 11,896
EEHTH 47,700 41,583 6,117
EHBEXM 3,042 2,432 610
G ES £ 1,500 1,900 A400 %Efﬁfggfgfﬁfgﬁ
o [EABEEASH AT 2,030 2,120 A90
BiR S X 8,803 8,901 N fé@ﬁ%%?_%géﬁmé
SRS H 985 892 93
BEEHIHEH Q) 315507 297,469 18,128
ELIHESINKELRE 3=1)-(2) 17,922 16,045 1877
12 1 ljbé = =
£: M B EFURAGT @ 0 0 0
5B [BEEENSXE 2,635 0 2,635|=Et-# 5V INEFH
miyg t MEREREIHE 6) 2,635 0 2,635
IR B REE UL ESE (6)=(4)-(5) A2,635 0 A2,635
Iy |TEILE EERARIRA 3,500 2,668 832 |t EEHEITEE (FiE)
2| A ZOMmDETHRAG (7) 3,500 2,668 832
;;1% . AR 6,285 5,581 704 %%ﬁg%%i%ggﬁ@)
lll)l% H | 20D EEZLSZH 10,502 11,132 A630| &t EREEETSE
a7 FOMDFEEZ HET (8) 16,787 16,713 74
ZOMDEHESINZTELSE (9=7)>-6) A13287] A14,045 758
FHEXE (10) 2,000 2,000 0
LH B S U EBEET(11)=(3)+(6)+(9)-(10) 0 0 0
AR E®ES (12) 0 0 0
LERIIESES (11)+(12) 0 0 0
FEUINALEE 337019] 316,182 20,837
FEXHRE 337019| 316,182 20,837




